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BOOKS - MTG WBJEE MATHS (HINGLISH)

QUADRATIC EQUATIONS

Wb Jee Workout Single Option Correct Type

1. Maximum value of  is

A. 6

B. 7

C. 2

D. 3

Answer: a

Vi T t S l ti

6 + 4x − 4x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bp3It1m780VX


View Text Solution

2. The roots of the equation 

 are

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

(a + c − b)x2 − 2cx + (b + c − a) = 0

1,
2c

a + c − b

1,
b + c − a

a + c − b

1,
b + c − a

2c

1,
a + c − b

b + c − a

3. If the roots of  are equal, then 

A. 2b

(b − c)x2 + (c − a)x + (a − b) = 0

a + c =

https://dl.doubtnut.com/l/_bp3It1m780VX
https://dl.doubtnut.com/l/_D9myht5OYWc8
https://dl.doubtnut.com/l/_Pu8XvWLH6WDz


B. 

C. 3b

D. b

Answer: a

View Text Solution

b2

4. If the two equations a  and 

have a common root, then the value of  is

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

a1x
2 + b1x + c1 = 0 a2x

2 + b2x + c2 = 0

(a1b2 − a2b1)(b1c2 − b2c1)

−(a1c2 − a2c1)2

(a1a2 − c1c2)2

(a1c1 − a2c2)2

(a1c2 − a2c1)2

https://dl.doubtnut.com/l/_Pu8XvWLH6WDz
https://dl.doubtnut.com/l/_vvHbzE3n9U4r


5. If  are 2, 3 roots of the equation f(x)=0,

then the value of m and n are

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

f(x) = 2x3 + mx2 − 13x + n

−5, − 30

−5, 30

5, 30

6. If , then x may have values

A. 2, 3

B. 7

C. 

7log7 (x
2 − 4x+ 5 ) = x − 1

−2, − 3

https://dl.doubtnut.com/l/_vvHbzE3n9U4r
https://dl.doubtnut.com/l/_ixRbqZmU5kOz
https://dl.doubtnut.com/l/_yMSUhkUdO1nx


D. 

Answer: a

View Text Solution

2, − 3

7. Roots of the equations  and  are

A. Reciprocal and of the same sign

B. Reciprocal and of opposite sign

C. Equal in magnitude

D. None of these

Answer: b

View Text Solution

2x2 − 5x + 1 = 0 x2 + 5x + 2 = 0

https://dl.doubtnut.com/l/_yMSUhkUdO1nx
https://dl.doubtnut.com/l/_EIEH1pgWdAgV


8. If one root of  is twice the other, then the value of q in

terms of p is

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

x2 + px + q = 0

p2

5

2p2

3

2p2

9

9. If the roots of  are in the ratio , then p =

A. 

B. 

C. 

D. 

x2 + px + 12 = 0 1: 3

±9

±3

±6

±8

https://dl.doubtnut.com/l/_LwRh5EOkSbhZ
https://dl.doubtnut.com/l/_Xq9DbjLdlVNx


Answer: d

View Text Solution

10. If the roots of  are two consecutive integers then 

A. 0

B. 1

C. 2

D. None of these

Answer: b

Watch Video Solution

x2 − bx + c = 0

b2 − 4c =

11. For the equation , the roots are∣∣x
2∣∣ + |x| − 6 = 0

https://dl.doubtnut.com/l/_Xq9DbjLdlVNx
https://dl.doubtnut.com/l/_SLqngemNKL8B
https://dl.doubtnut.com/l/_COtu51z5GD8T


A. One and only one real number

B. Real with sum one

C. Real with sum zero

D. Real with product zero

Answer: c

View Text Solution

12. The number of solutions of  is

A. 2

B. 3

C. 1

D. None of these

Answer: d

View Text Solution

= 2
log 5 + log(x2 + 1)

log(x − 2)

https://dl.doubtnut.com/l/_COtu51z5GD8T
https://dl.doubtnut.com/l/_3ngnElICtT64


13. If a, b, c, ..., k are roots of the equation f(x) = 0, then the value of

 is

A. 2

B. 0

C. 1

D. None of these

Answer: d

View Text Solution

+ + … +
f(x)

x − a

f(x)

x − b

f(x)

x − k

14. Let , the value of x which satisfies

 is

A. 1

B. 2

f(x) = x2 − 3x + 4

f(1) + f(x) = f(1)f(x)

https://dl.doubtnut.com/l/_3ngnElICtT64
https://dl.doubtnut.com/l/_0YlGYn6HSCJz
https://dl.doubtnut.com/l/_PKp0qi4Vyxq0


C. 1 and 2

D. 1 and 0

Answer: c

View Text Solution

15. If  are roots of the quadratic equation , then the

quadratic equation whose roots are  is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

α, β x2 − x − 1 = 0

,
1 + α

2 − α

1 + β

2 − β

z2 + z + 1 = 0

z2 − 7z + 1 = 0

z2 + 7z + 1 = 0

z2 + 7z − 1 = 0

https://dl.doubtnut.com/l/_PKp0qi4Vyxq0
https://dl.doubtnut.com/l/_wKoZ1Zjx3k8L
https://dl.doubtnut.com/l/_RvbVSj0K4HLI


16. Let a, b and c bereal numbers such that 4a+2b+c=0 and ab  0. Then

the quadratic equation  has

A. real roots

B. complex roots

C. purely imaginary roots

D. only one root

Answer: a

View Text Solution

>

ax2 + bx + c = 0

17. If a, b, c, d, x are distinct non zero real numbers such that

, then a, b, c,

d are in

A. A.P.

B. H.P.

(a2 + b2 + c2)x2 − 2(ab + bc + cd)x + (b2 + c2 + d2) ≤ 0

https://dl.doubtnut.com/l/_RvbVSj0K4HLI
https://dl.doubtnut.com/l/_ltoDOPoek6kT


C. G.P.

D. None of these

Answer: c

View Text Solution

18. If  are roots of , then 

 equals

A. 2

B. 3

C. 4

D. 5

Answer: c

View Text Solution

α, β, γ x3 + 4x + 1 = 0

(α + β) − 1 + (β + γ) − 1 + (γ + α) − 1

https://dl.doubtnut.com/l/_ltoDOPoek6kT
https://dl.doubtnut.com/l/_uWM1P2YHhRZI
https://dl.doubtnut.com/l/_zICh82cNgVLD


19. If the sum of two roots of the equation  is

zero, then the value of ab equals

A. c

B. 2c

C. 

D. 

Answer: a

View Text Solution

x3 + ax2 + bx + c = 0

−2c

−c

20. If a, b, c are real numbers in A.P., then the roots of 

are real for

A. all a and c

B. no a and c

C. 

ax2 + bx + c = 0

∣
∣ − 7∣

∣ ≥ 4√7
c

a

https://dl.doubtnut.com/l/_zICh82cNgVLD
https://dl.doubtnut.com/l/_Twz8LqLI58OW


D. 

Answer: c

View Text Solution

∣
∣ + 7∣

∣ ≥ 2√3
a

c

21. Let  and  be the roots of equation  if 

, for , then the value of  is equal to

A. 3

B. 

C. 6

D. 

Answer: a

View Text Solution

α β x2 − 6x − 2 = 0

an = αn − βn n ≥ 1
a10 − 2a8

2a9

−3

−6

https://dl.doubtnut.com/l/_Twz8LqLI58OW
https://dl.doubtnut.com/l/_RfDhHeb0CKEt


22. The set of value of x for which the inequality 

(where [.] denote the greatest integral function) hold good if

A. 

B. 

C. 

D. (b) and (c ) both

Answer: c

View Text Solution

[x]2 − 5[x] + 6 ≤ 0

2 ≤ [x] < 3

2 ≤ x < 4

2 ≤ [x] ≤ 3

23. If roots of the equation  are real, then which one

is correct?

A. 

B. 

C. 

x2 + α2 = 8x + 6α

−2 ≤ α ≤ 8

2 ≤ α ≤ 8

−2 < α ≤ 8

https://dl.doubtnut.com/l/_W5ZM9ozziYYs
https://dl.doubtnut.com/l/_WqjsIKDrvZkf


D. 

Answer: a

View Text Solution

−2 ≤ α < 8

24. If x and 'a' are real, then the value of 'a' for which 

is positive is

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

x2 − + 1 − a23ax

2

− p
4
25

4
25

|a| >
4
5

|a| <
4
5

https://dl.doubtnut.com/l/_WqjsIKDrvZkf
https://dl.doubtnut.com/l/_gLqgbY2PaRwU


25. The equation  has

A. no real root

B. one real root

C. two real roots

D. four real roots

Answer: d

View Text Solution

x2 − 3|x| + 2 = 0

26. The sum of all real roots of the equation 

is

A. 7

B. 4

C. 1

D. 5

|x − 2|2 + |x − 2| − 2 = 0

https://dl.doubtnut.com/l/_j6FSVNp5ouhw
https://dl.doubtnut.com/l/_BdJdDLcbPlQj


Answer: b

View Text Solution

27. If a, b, c are real, then both the roots of the equation

 are always

A. positive

B. negative

C. real

D. imaginary

Answer: c

View Text Solution

(x − b)(x − c) + (x − c)(x − a) + (x − a)(x − b) = 0

28. The roots of the quadratic equation  arex2 − 2√3x − 22 = 0

https://dl.doubtnut.com/l/_BdJdDLcbPlQj
https://dl.doubtnut.com/l/_5YhFvyTXTxSQ
https://dl.doubtnut.com/l/_qtZ6zCaFoyIR


A. imaginary

B. real, rational and equal

C. real, irrational and unequal

D. real, rational and unequal

Answer: c

View Text Solution

29. The equations  have a

common real root

A. for no value of a

B. for exactly one value of a

C. for exactly two values of a

D. for exactly three values of a

Answer: b

x2 + x + a = 0 and x2 + ax + 1 = 0

https://dl.doubtnut.com/l/_qtZ6zCaFoyIR
https://dl.doubtnut.com/l/_4wwjcZ2H0PLI


View Text Solution

30. The quadratic equation 

possesses roots of opposite sign. Then

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

2x2 − (a3 + 8a − 1)x + a2 − 4a = 0

a ≤ 0

0 < a < 4

4 ≤ a < 8

a ≥ 8

31. The condition that the roots of  are in the ratio 

is 

A. 

px2 − px + q = 0 p : q

[q ≠ 0, p ≠ 0]

p + q = 0

https://dl.doubtnut.com/l/_4wwjcZ2H0PLI
https://dl.doubtnut.com/l/_wwGxaxX6vfXE
https://dl.doubtnut.com/l/_5duX7pL26cFf


B. 

C. 

D. None of these

Answer: c

View Text Solution

2p − q = 0

2p + q = 0

32. If the roots of  are in the ratio p : q, then 

A. 

B. 

C. 

D. None of these

Answer: c

View Text Solution

ax2 + ax + c = 0

√ + √ = 0
p

q

q

p

√
a2

c

√
a

2c

√
a

c

https://dl.doubtnut.com/l/_5duX7pL26cFf
https://dl.doubtnut.com/l/_bzUDDpER39Ez


33. If the equation  has roots equal in magnitude but

opposite in sign, then m equals

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

=
x2 − bx

ax − c

m − 1

m + 1

a + b

a − b

a − b

a + b

b − a

b + a

34. The set of value ofp for which the roots of the equation

 are of opposite signs is

A. 

B. 

3x2 + 2x + p(p − 1) = 0

( − ∞, 0)

(0, 1)

https://dl.doubtnut.com/l/_bzUDDpER39Ez
https://dl.doubtnut.com/l/_eVXQjJZ38q6l
https://dl.doubtnut.com/l/_RKW6Aw1dYlZp


C. 

D. 

Answer: b

View Text Solution

(1, ∞)

(0, ∞)

35. Let  be the roots of  be the roots of

 be the discriminants respectively. If

 are in A.P., then  is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

α, β ax2 + bx + c = 0 and γ, δ

px2 + qx + r = 0 and D1, D2

α, β, γ, δ D1 :D2

a2

b2

a2

p2

b2

q2

c2

r2

https://dl.doubtnut.com/l/_RKW6Aw1dYlZp
https://dl.doubtnut.com/l/_FSzHOt2Rwv1j


36. Given that, for all real x, the expression  lies between 

and 3. The values which the expansion  lies are

A. 

B. 

C. 

D. 0 and 2

Answer: a

View Text Solution

x2 − 2x + 4

x2 + 2x + 4

1

3
9 ⋅ 32x + 6 ⋅ 3x + 4

9 ⋅ 32x − 6 ⋅ 3x + 4

and 3
1

3

−2 and 0

−1 and 1

37. If every pair from among the equations

 has a

common root, then the sum of the three common roots is

A. 

x2 + px + qr = 0, x2 + qx + rp = 0 and x2 + rx + pq = 0

2(p + q + r)

https://dl.doubtnut.com/l/_FSzHOt2Rwv1j
https://dl.doubtnut.com/l/_AZDbW7Zwt4Vm
https://dl.doubtnut.com/l/_dghnvflLyzh1


B. 

C. 

D. pqr

Answer: b

View Text Solution

p + q + r

−(p + q + r)

38. If  and  are the roots of the equation ,

then

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

sinα cosα px2 + qx + r = 0

p2 − q2 + 2pr = 0

(p + r)2 = q2 − r2

p2 + q2 − 2pr = 0

(p − r)2 = q2 + r2

https://dl.doubtnut.com/l/_dghnvflLyzh1
https://dl.doubtnut.com/l/_6qc6FpBsvApE


39. The solution of the equation  which belongs to

the domain of definition of the function  are given by

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

(3|x| − 3)2 = |x| + 7

y = √x(x − 3)

± , ± 2
1

9

− , 2
1

9

, − 2
1

9

− , − 2
1

9

40. Let  be the roots of the equation . The

equation whose roots are  is

A. 

B. 

α and β x2 + x + 1 = 0

α19, β7

x2 − x − 1 = 0

x2 − x + 1 = 0

https://dl.doubtnut.com/l/_6qc6FpBsvApE
https://dl.doubtnut.com/l/_UCjMAOpHA6sk
https://dl.doubtnut.com/l/_nFsjmE5r3VBB


C. 

D. 

Answer: d

View Text Solution

x2 + x − 1 = 0

x2 + x + 1 = 0

41. If rational a, b, c, d are in G.P., then roots of equation

 are necessarily

A. Imaginary

B. Irrational

C. rational

D. real and distinct

Answer: c

View Text Solution

(a − c)2
x2 + (b − c)2

x + (b − d)2 = (a − d)2

https://dl.doubtnut.com/l/_nFsjmE5r3VBB
https://dl.doubtnut.com/l/_ff1RqQmaIeuT
https://dl.doubtnut.com/l/_T1OKLkXPqc3R


42. If a, b, c be the  terms respectively of an A.P. and G.P.

both, then the product of the roots of equation

 equals

A. 

B. 2

C. abc

D. 1

Answer: d

View Text Solution

pth, qth and rth

(abbcca)x2 − (abc)x + (acbacb) = 0

−1

43. If  are roots of the equation , the value of

 is

A. 0

B. 2

α, β x2 − p(x + 1) − q = 0

+
α2 + 2α + 1

α2 + 2α + q

β2 + 2β + 1

β2 + 2β + q

https://dl.doubtnut.com/l/_T1OKLkXPqc3R
https://dl.doubtnut.com/l/_H84mHUJlrXHg


C. 1

D. 

Answer: c

View Text Solution

−1

44. The value of 'a' for which one root of the quadratic equation

 is twice the other is

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

(a2 − 5a + 3)x2 + (3a − 1)x + 2 = 0

2/3

1/3

−2/3

−1/3

https://dl.doubtnut.com/l/_H84mHUJlrXHg
https://dl.doubtnut.com/l/_ifKxt1qIhBpY
https://dl.doubtnut.com/l/_TeCCzS5FlyHf


Wb Jee Workout One Or More Than One Option Correct Type

45. If m is chosen in the quadratic equation

 such that the sum of its roots is

greatest, then the absolute difference of the cubes of its roots is

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

(m2 + 1)x2 − 3x + (m2 + 1)
2

= 0

4√3

10√5

8√5

8√3

1. The ratio of the roots of the equation  is same as the

ratio of the roots of the equation . If  and  are

ax2 + bx + c = 0

px2 + qx + r = 0 D1 D2

https://dl.doubtnut.com/l/_TeCCzS5FlyHf
https://dl.doubtnut.com/l/_cqG0PqRVh9Wz


discriminants of  and  respectively,

then 

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

ax2 + bx + c = 0 px2 + qx + r = 0

D1 :D2 =

a2

p2

b2

q2

c2

r2

2. The set of values of x which satisfy  and  is

A. 

B. 

C. 

D. 

5x + 2 < 3x + 8 < 4
x + 2

x − 1

(2, 3)

( − ∞, 1) ∪ (2, 3)

( − ∞, 1)

(1, 3)

https://dl.doubtnut.com/l/_cqG0PqRVh9Wz
https://dl.doubtnut.com/l/_yc9uc00yBkm0


Answer: b

View Text Solution

3. Let . Then

A.  for all x

B.  when 

C.  when 

D.  for all x.

Answer: c

View Text Solution

f(x) = x2 + 4x + 1

f(x) > 0

f(x) > 1 x ≥ 0

f(x) ≥ 1 x ≤ − 4

f(x) = f( − x)

4. The roots of the equation , are  and

roots of  are ,

then  equals

ax3 + bx2 + cx + d = 0 α1, α2, α3

g(z) = az3 + + z + f(y) = 0
f' ' (y)z2

2!

f' (y)

1!
β1, β2, β3

α1 − β1

https://dl.doubtnut.com/l/_yc9uc00yBkm0
https://dl.doubtnut.com/l/_W2d6JXzPRAYF
https://dl.doubtnut.com/l/_gB1bdnSInbk9


A. 

B. 

C. y

D. All of these

Answer: d

View Text Solution

α2 − β2

α3 − β3

5. The value of P for which both the roots of the equation

 are less than 2, lies in

A. 

B. 

C. 

D. 

Answer: d

4x2 − 20Px + (25P 2 + 15P − 66) = 0

( , 2)
4
5

(2, ∞)

( − 1, )
4
5

( − ∞, − 1)

https://dl.doubtnut.com/l/_gB1bdnSInbk9
https://dl.doubtnut.com/l/_Rrqy3hbzLSHe


View Text Solution

6. If b be the  term of G.P. where  and  terms are a and

c respectively and if , then for all 

A. 

B. 

C. 

D. None of these

Answer: b

View Text Solution

pth (p + q)th (p − )th

f(x) = ax2 + 2bx + c x ∈ R

af(x) = 0

D = 0

af(x) ≤ 0

7. Let a, b, c be real number . If  is a root of 

 is a root of  and , then

the root of the equation (say )  always satisfies

(a ≠ 0) α

a2x2 + bx + c = 0, β a2x2 − bx − c = 0 0 < αβ

γ a2x2 + 2bx + 2c = 0

https://dl.doubtnut.com/l/_Rrqy3hbzLSHe
https://dl.doubtnut.com/l/_5TKmTZ6X0BUm
https://dl.doubtnut.com/l/_cfHO6ScJUt3l


A. 

B. 

C. 

D. 

Answer: b,d

View Text Solution

γ =
α + β

2

f(γ) = 0

γ = α

α < γ < β

8. The equation x

A. Exactly three roots (real)

B. At least one real root

C. Exactly one irrational root

D. Exactly one rational root

Answer: a,b,c

View Text Solution

https://dl.doubtnut.com/l/_cfHO6ScJUt3l
https://dl.doubtnut.com/l/_CUPsOmWXyIX9


9. The value of x satisfying the equation 

 is

A. 27

B. 81

C. 9

D. 

Answer: b

View Text Solution

|x − 1|log3 x
2 − 2 logx 9 = (x − 1)7

1/√3

10. Let then the quadratic equation whose roots are 

is given by

A. 

a = ei 2π
13

α = a + a3 + a4 + a− 4 + a− 3 + a− 1, β = a2 + a5 + a6 + a− 6 + a− 5 + a

x2 − x − 3 = 0

https://dl.doubtnut.com/l/_CUPsOmWXyIX9
https://dl.doubtnut.com/l/_7CrCTIDwcL0F
https://dl.doubtnut.com/l/_pOeTGgmJMefq


Wb Jee Previous Years Questions Single Option Correct Type

B. 

C. 

D. 

Answer: d

View Text Solution

x2 − x + 2 = 0

x2 + x + 2 = 0

x2 + x − 3 = 0

1. If  and  are the roots of  then the value of 

 is equal to

A. 2

B. 

C. 

D. 1

α β x2 − x + 1 = 0

α2013 + β2013

−2

−1

https://dl.doubtnut.com/l/_pOeTGgmJMefq
https://dl.doubtnut.com/l/_aI5S1X3emNCv


Answer: b

View Text Solution

2. If  are the roots of the quadratic equation 

, then the quadratic equation whose roots are 

 is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

α, β

x2 + ax + b = 0, (b ≠ 0)

α − , β −
1

β

1

α

ax2 + a(b − 1)x + (a − 1)
2

= 0

bx2 + a(b − 1)x + (b − 1)
2

= 0

x2 + ax + b = 0

abx2 + bx + a = 0

https://dl.doubtnut.com/l/_aI5S1X3emNCv
https://dl.doubtnut.com/l/_TSOXtOYr04tR


3. If  are the roots of the quadratic equation 

, then

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

α, β

ax2 + bx + c = 0 and 3b2 = 16ac

α = 4β or β = 4α

α = − 4β or β = − 4α

α = 3β or β = 3α

α = − 3β or β = − 3α

4. If  are the roots of the quadratic equation , then

the values of  are

A. 

B. 

C. 

α, β x2 + px + q = 0

α3 + β3 and α4 + α2β2 + β4

3pq − p3 and p4 − 3p2q + 3q2

−p(3q − p2) and (p2 − q)(p2 + 3q)

pq − 4 and p4 − q4

https://dl.doubtnut.com/l/_sD8wlMtcSk6i
https://dl.doubtnut.com/l/_fB228RXCfJng


D. 

Answer: d

View Text Solution

3pq − p3 and (p2 − q)(p2 − 3q)

5. Let p, q be real numbers. If  is the root of  is a

root of , then the equation

 has a root  that always satisfies

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

α x2 + 3p2x + 5q2 = 0, β

x2 + 9p2x + 15q2 = 0 and 0 < α < β

x2 + 6p2x + 10q2 = 0 γ

γ = α/4 + β

β < γ

γ = α/2 + β

α < γ < β

https://dl.doubtnut.com/l/_fB228RXCfJng
https://dl.doubtnut.com/l/_NL7Z7OdGewMu
https://dl.doubtnut.com/l/_Cx2p4NuHwKjQ


6. If  are the roots of  and 

are the roots of  then the ratio of the squares

of their discriminants is

A. 

B. 

C. 

D. 

Answer: None of the option is correct

View Text Solution

α, β ax2 + bx + c = 0(a ≠ 0) α + h, β + h

px2 + qx + r = 0(p ≠ 0)

a2 : p2

a : p2

a2 : p

a : 2p

7. The number of solution(s) of the equation

 is/are

A. 2

B. 0

√x + 1 − √x − 1 = √4x − 1

https://dl.doubtnut.com/l/_Cx2p4NuHwKjQ
https://dl.doubtnut.com/l/_M4KVlLlse8Wm


C. 3

D. 1

Answer: b

View Text Solution

8. If  are the roots of  and  is a root of 

, then  is

A. 0

B. 1

C. 

D. p

Answer: a

View Text Solution

α, β x2 − px + 1 = 0 γ

x2 + px + 1 = 0 (α + γ)(β + γ)

−1

https://dl.doubtnut.com/l/_M4KVlLlse8Wm
https://dl.doubtnut.com/l/_GuPBttqFS9mT
https://dl.doubtnut.com/l/_s3XU04wEpfIL


9. The quadratic expression  for any real x if

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

(2x + 1)2 − px + q ≠ 0

p2 − 16p − 8q < 0

p2 − 8p + 16q < 0

p2 − 8p − 16q < 0

p2 − 16p + 8q < 0

10. Given that x is a real number satisfying , then

A. 

B. 

C. 

D. 

< 0
5x2 − 26x + 5

3x2 − 10x + 3

x <
1

5

< x < 3
1

5

x > 5

< x < or 3 < x < 5
1

5

1

3

https://dl.doubtnut.com/l/_s3XU04wEpfIL
https://dl.doubtnut.com/l/_ClgKPqoAhMUN


Answer: d

View Text Solution

11. Let  be 15 distinct numbers chosen from 1, 2, 3, …., 15.

Then the value of  is

A. always 

B. 0

C. always even

D. always odd

Answer: b

View Text Solution

x1, x2, …, x15

(x1 − 1)(x2 − 1)(x3 − 1)…(x15 − 1)

≤ 0

12. Let P(x) be a polynomial, which when divided by  and 

leaves remainders 10 and 6 respectively. If the polynomial is divided by

x − 3 x − 5

https://dl.doubtnut.com/l/_ClgKPqoAhMUN
https://dl.doubtnut.com/l/_hLjFFTMzSOHw
https://dl.doubtnut.com/l/_DCJc8c56vj4v


, then the remainder is

A. 

B. 16

C. 

D. 60

Answer: a

View Text Solution

(x − 3)(x − 5)

−2x + 16

2x − 16

13. If p, q are the roots of the equation , then

A. p = 1, q = -2

B. p = 0, q = 1

C. p = -2, q = 0

D. p = -2, q = 1

Answer: a

x2 + px + q = 0

https://dl.doubtnut.com/l/_DCJc8c56vj4v
https://dl.doubtnut.com/l/_3SpfGNzvW0Vc


View Text Solution

14. The number of values of k for which the equation 

has two distinct roots lying in the interval (0, 1) are interval (0, 1) are

A. three

B. two

C. infinitely many

D. no value of k satisfies the requirement

Answer: c

View Text Solution

x2 − 3x + k = 0

15. If p, q are odd integers, then the roots of the equation

 are

A. rational

2px2 + (2p + q)x + q = 0

https://dl.doubtnut.com/l/_3SpfGNzvW0Vc
https://dl.doubtnut.com/l/_fOGDeo5itl02
https://dl.doubtnut.com/l/_tefXi3pb4IJ0


B. irrational

C. non-real

D. equal

Answer: a

View Text Solution

16. If  are all real numbers, then at

least one of the equations  and 

has

A. real roots

B. purely imaginary roots

C. roots of the form 

D. rational roots

Answer: a

b1b2 = 2(c1 + c2) and b1, b2, c1, c2

x2 + b1x + c1 = 0 x2 + b2x + c2 = 0

a + ib(a, b ∈ R, ab ≠ 0)

https://dl.doubtnut.com/l/_tefXi3pb4IJ0
https://dl.doubtnut.com/l/_WLINT23c6LD5


View Text Solution

17. Let a, b, c be real numbers such that  and the quadratic

equation  has imaginary roots. Then

A. 

B. 

C. 

D. 

Answer: d

View Text Solution

a + b + c < 0

ax2 + bx + c = 0

a > 0, c > 0

a > 0, c < 0

a < 0, c > 0

a < 0, c < 0

18. Let  be two distinct roots of , where a, b and c

are three real constants and . Then  is also a root of the

same equation, if

α, β a cos θ + b sin θ = c

θ ∈ [0, 2π] α + β

https://dl.doubtnut.com/l/_WLINT23c6LD5
https://dl.doubtnut.com/l/_ep4pNHpTZtjZ
https://dl.doubtnut.com/l/_SsaR7hE3U0A9


A. 

B. 

C. 

D. 

Answer: d

View Text Solution

a + b = c

b + c = a

c + a = b

c = a

19. If  are roots of  then the equation whose

roots are  is

A. 

B. 

C. 

D. 

Answer: a

α and β ax2 + bx + c = 0

α2 and β2

a2x2 − (b2 − 2ac)x + c2 = 0

a2x2 + (b2 − 2ac)x + c2 = 0

a2x2 + (b2 + ac)x + c2 = 0

a2x2 + (b2 + 2ac)x + c2 = 0

https://dl.doubtnut.com/l/_SsaR7hE3U0A9
https://dl.doubtnut.com/l/_fmlX8dhzAHbz


View Text Solution

20. For real x, the greatest value of  is

A. 1

B. 

C. 

D. 

Answer: c

View Text Solution

x2 + 2x + 4

2x2 + 4x + 9

−1

1

2

1

4

21. Let . Then

A. f(x) has infinitely many zeros in (1, 2) for all c

B. f(x) has exactly one zero in (1, 2) if 

C. f(x) has double zeros in (1, 2) if 

f(x) = x4 − 4x3 + 4x2 + c, c ∈ R

−1 < c < 0

−1 < c < 0

https://dl.doubtnut.com/l/_fmlX8dhzAHbz
https://dl.doubtnut.com/l/_DTHAsioDDPZj
https://dl.doubtnut.com/l/_I3NHegfg46Xj


Wb Jee Previous Years Questions One Or More Than One Option Correct

Type

D. whatever be the value of c,f(x) has no zero in (1,2)

Answer: b

View Text Solution

22. The graphs of the polynomial  and cos x intersect

A. at exactly two points

B. at exactly 3 points

C. at least 4 but at finitely many points

D. at infinitely many points

Answer: a

View Text Solution

x2 − 1

https://dl.doubtnut.com/l/_I3NHegfg46Xj
https://dl.doubtnut.com/l/_SsyipXlcpaku


1. Let  be the roots of the equation . Then

which of the following statements is/are correct?

A. 

B. 

C. 

D. 

Answer: a,b

View Text Solution

sinα, cosα x2 − bx + c = 0

c ≤
1

2

b ≤ √2

c >
1

2

b > √2

2. Which of the following is/are always false?

A. A quadratic equation with rational coefficients has zero or two

irrational roots.

B. A quadratic equation with real coefficients has zero or two non-real

roots.

https://dl.doubtnut.com/l/_XAgchCug5d2l
https://dl.doubtnut.com/l/_znJwTvLJHEQ5


C. A quadratic equation with irrational coefficients has zero or two

rational roots.

D. A quadratic equation with integer coefficients has zero or two

irrational roots.

Answer: c

View Text Solution

3. If the equation  has real roots

, then

A. 

B. 

C. 

D. 

Answer: a,c

x2 + y2 − 10x + 21 = 0

x = α and y = β

3 ≤ x ≤ 7

3 ≤ y ≤ 7

−2 ≤ y ≤ 2

−2 ≤ x ≤ 2

https://dl.doubtnut.com/l/_znJwTvLJHEQ5
https://dl.doubtnut.com/l/_eyxMl4OhPzSV


View Text Solution

4. If a, b  {1, 2, 3} and the equation  has real roots,

then

A. 

B. 

C. number of possible ordered pairs of (a, b) are 3

D. 

Answer: c,d

View Text Solution

∈ ax2 + bx + 1 = 0

a > b

a ≤ b

a < b

5. If the equation  has roots equal to the fourth powers

of the roots of , where , then the roots of 

 will be

x2 − cx + d = 0

x2 + ax + b = 0 a2 > 4b

x2 − 4bx + 2b2 − c = 0

https://dl.doubtnut.com/l/_eyxMl4OhPzSV
https://dl.doubtnut.com/l/_hc0tqlvtJ7gO
https://dl.doubtnut.com/l/_CWDV3boBZyXL


A. both real

B. both negative

C. both positive

D. one positive and one negative

Answer: a,d

View Text Solution

6. Let . 


Then  is

A. 

B. 

C. 

D. 

Answer: c

a = min{x2 + 2x + 3: x ∈ R} and b = lim
θ→ 0

1 − cos θ

θ2

n

∑
r= 0

arbn−r

2n+ 1 − 1

3 ⋅ 2n

2n+ 1 + 1

3 ⋅ 2n

4n+ 1 − 1

3 ⋅ 2n

(2n − 1)
1

2

https://dl.doubtnut.com/l/_CWDV3boBZyXL
https://dl.doubtnut.com/l/_qz2GyY9JJ3zo


View Text Solution

7. Let  be the roots of  be the roots of 

. If  are in G.P.,

then ab equals

A. 

B. 64

C. 16

D. 8

Answer: b

View Text Solution

x1, x2 x2 − 3x + a = 0 and x3, x4

x2 − 12x + b = 0 x1 < x2 < x3 < x4 and x1, x2, x3, x4

24
5

https://dl.doubtnut.com/l/_qz2GyY9JJ3zo
https://dl.doubtnut.com/l/_avVXyrgabdEE

